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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 3¢ 2017 & umw & v frows s adsr oiers (desh & v &
T WgeT fEm g
Wh took charge as the new Compiroller and Auditor General (CAG) of India in 20177

A 1mi'rq-:q§ﬁ

v
Rajiv Mehrishi
0TS $AN
X2
Ranjit Kumar
% e FAR ST
3
Achal Kumar Jyothi
X 4 Fas M
Vivek Goenka

Question 10 : 9864492295
Status : Answered
Chosen Option 31

Q.2 437 drge oz & waw W e & gf s o & gf F de B A
I AT
What will be the acute angle between the hour-hand and the minute-hand at 4:37 pm.?

Ans x1 130

Question 1D : 9864492773
Status : Answered
Chosen Option 4

v 83.5°
X 3 6.5°
X 418.5°

Q3 JFrr fer v RAwedt # & wEfT ueg F 9O FL

qffeT : HEEAT o AT

Question 1D : 9864493639
Status : Answered
Chosen Option ; 3

Select the related word from the given alternatives:

Examination : Success :: Matches :
Ans gy
4
Attempt
i
Prepare

2



¢
Victory

x 4 e
Cricket

Q4 rE 3T WelTeT & THIE NG F A 5 ¢ 4§ A W A I = I A =
ST 11 - o S S A Ehe g e g
Present ages of Sad and Satheesh are in the ratio of 5 : 4 respectively. Three years hence,
the ratio of their ages will become 11 : 9 respectively. 'What is Satheesh's present age in
years?

Question ID : 9864492573
Status : Answered
Chosen Option ;2

Ans X1_22
224
X321
X< 423

Q.5 u#er o #5E F I & Ty At i o o5 e st e A
nEF F A #nin
The kinetic enargy of a ball weighing 0.5 kg moving with a velocity of L m/s will be:

Question 1D ; 9864493460
Status  Answered
Chosen Opfion : 3

Ans 12
i, 2
12J

Xz.ssﬁq
8J

i ®

LJ

16 Ao
4 LY

16 J

Q6 37 fasew & aow &t 5 & 7 gl F few mw & B ssgeE

Question 1D ;9864494055
Status - Answered
Chosen Option ;4

Select the option that fits in the blank space in the given Problem Figure,

Problem Figure

V/"
a3

b
r G

Ans

> 2

NEARS"




x A

Q7 #m & faw & wEw, 37 e () e § 3 walEE e (V) TR we

B

According to Ohm’s law, if current (1) increases and potential difference (V) remains

constant, then:
Ans
x ; TR @ &
resistance increases

xgﬁuaiaruzm%

potential difference decreases

| ey srfafde e @

Fat
resistance unchanged

Jﬁﬁﬁumg’rm%

resistance decreases

Question 1D : 9864493606
Status : Not Answered
Chosen Option ;-

02 3isier & wen 30y 3 et AT A &2

How many atoms are present in one molecule of Ozone?

Ans B 1 2
X 21
Va3
X 44

Question I1D ;9864493547
Status : Answered
Chosen Option : 1

Q.9 7] TR HfieE Rl & e Toeiias 2w & apa & o, S
TE H WET THIT F9W F @Y I e & T ar
Which is the political party started by Telugu film actor Chiranjeevi, who later merged it

with the Indian National Congress?

Ans x1_aaf-°-|nﬁ'a'rq'|€f

Nava Nirman Party
. 3T 9r8E 9réf
Andhra Pride Party
o , AT e
Telugu Desam Party
ST TSTH e
. Praja Rajyam Party

X

Question 10 : 9864492177
Status - Answered
Chosen Option 1

Q10 o zeT T

(- {19~ (- 2) x (- 8)} =7
Solve the following:

(- H{19- (- 2) x (- 8)} =2

Ans X 1.140
X2 -140

Question 1D 9864492879
Status - Answered
Chosen Option : 2




v 12
X412

O CrfaTaa 7 | Fi9 O e v T
‘Which of the following numbers is a perfect square?

Cuestion 1D : 9864492500
Status ; Answered
Chosen Option -4

Ans. € 1.333
X 2327
X 3192
W i 441

2 SR vl & o 3 &Y 9gET Y

Question 1D : 9864494097
Status : Not Answered
Chosen Option : -

6, 12, 20, 32, 42, 56, 72
Select the WRONG number from the given series.

6, 12, 20, 32, 42, 56, 72
Ans O 4 72

X 2 56

X320

V32

Q.13 for aiv gewer o fen &t d Ao o B & ok memet F & ste
fafea & (&1

Question 1D ; 9864494245
Status : Answered
Chosen Option : 3

T
Tl & e # meew wmE F 28% AR g
ATt

I, & i F e o T g O S0 e S
. wf=es & we wru= o e # gfe & w@ E

Consider the given statement and decide which of the given assumption(s) is {are)
implicit.

Statement:
The train fares have increased by 25% with immediate effect.

Assumptions:

1. People still prefer travelling by train despite the increase.
I Other modes of commutation may also increase their fares.

Ans X1 1 3kt 2 3= fAfga a8 £

Neither assumption I nor II is implicit.

, ae FeTar 2 fafea g
Only assumption II is implicit.

| Faw A 1 @k 2
Only assumption I is implicit.

X

v



413ﬂ12a‘m’iﬁn‘3?r§|

Both assumptions I and II are implicit.

X

Q.14 i 2t afiers =7 15 wuw & fard on ot o a7 60 xS S ot wE

Question 1D 9864492607
T oA T 2,200 9 e W § 3 Twdy A el i i

Status : Answered
Veer spends 15% of his monthly income on the house rent and 6096 of the rest on.
heuschold expenditure. If he saves ¥ 2210, what is his monthly income? Chosen Option : 3

Ans 3 1. ¥ 8,000
X 2 T 7,500
v 5 %6,500
X 4 7,000

15
Q TT‘?## Fiha & e & et g w et o e $RE Question ID : 9864493373

Among chemical properties, Mendeleev concentrated on the compousds formed by the Status : Answered
elements with; Chosen Option ;1

Aﬂﬁ ot W
i ST AT 3Tl
Hydrogen and Oxygen

1 GEEEC i ng: o)
Hydrogen and Sodium

. Fraa AR e

Fat
Carbon and Hydrogen
X 4 FeeT AT WA
Carbon and Sodium
A ag ICICEG] SaNT 3c9eel E’I?IT ?’ | Question 1D : 9864493455
Status : Not A d
reproduces by multiple fission. Chosen Option : - e
Ans m
b
Rhizopus
v CATTHISAH
Plasmodium
<3 AT
Planaria
X 4 THR
Yeast

Q17 2t gwrmst & T 0,768 ¥ IR U AT w16 8, A gEd wem e
afaT
The product of two decimals is 0.768. If one of the decimal number is 1.6, find the other.

Ans X 1.0.47

Question |0 : 9864492561
Status : Answered
Chosen Option : 2

v 2 048
X 3037
X 4042

Q.18 o= =i 97 0% O # 20 ST @ 51 25 e & doe o e
I AT
A Lawn roller makes 20 revolutions in one hour. The radians it runs through 25 mimnutes is Status : Not Answerad
A Chosen Opfion ;-

Question 1D - 9864492476




v

x 2 150

x 3 250x

X4Eﬂ_’!

O SRR w7 & ¥ B R & 939 #:1

Question 1D : 9864494305
Status - Answered
Chosen Option : 2

€ ¥ 5 A

Select the odd character out of the following series.

€ ¥ 5 A

Ans ?(1_€
VA
Xig
X4y

Q.20 il w1 & wwfiey (7) & she Rarr o s, oF s

Fttue §1 faw v Rwedt & ¥ sitye 3R & 94 1
A, BC, DEF, GHI, ?
In the following series, one term is missing as shown by the question mark (7). Select the

Question 1D : 9864494147
Status - Answered
Chosen Option : 4

missing term from the given options.
A, BC, DEF, GHIJ, 7
Ans O 1 XYZA
X 2 TUVW
X 3 PQRS
v« KLMNO

Q.21 wrm # w0 AR (FiE seeaew) & WEN & & BT 2017 & G
wHE & & Tela e = OF R

Which major bank has launched the *Unnati Credit Card" in 2017 to enhance credit
inclusion in India?

Question 1D ;9864492418
Status ; Answered
Chosen Option :1

P x 1 vfeww &%
Axis Bank
vy TH.E.ITS.
SBI
x3 IS WA TN o
ICICI Bank
g TE . &F
HDFC Bank

r

Q.22 yofaw fr ward =7 wog fWews e ==, B & & B @ w9 A8

g 87
Which is the form of energy that does NOT occur while nding a bicycle?

Ans

Question 1D : 9864493041
Status : Answered
Chosen Option ;4




X, T
Kinetic energy
, 3T 5
Heat energy
3 oifye Far
Mechanical energy
v . TEEE S
Chemical energy

x

Q.23 v RAmom s dr oD, (pH) 793§ FE U, (pH) AR SEEsT e ST AT S, FE Y
o= i Wi e d =
The pH of a sohistion is 3, When its pH changes to 6, then H* ion concentration:

Question 1D : 9864493070
Status : Not Answered
Chosen Option ;-

Ane x ; 2T AR

increases 2 times
A et 7T g e
increases three times
1000 I[AT HH g SN B

decreases 1000 times
, 100 Emam*ﬁmﬁ'r?l

decreases 100 times

X

v

x

Q.24 :
T | e | i | wfedEr | fdee S Cuestion 1D ;9864493954
/e | e o % Status : Answered
A 200 150 50 - Chosen Option -4
B - 200 100 666
C 180 50 100 -
o 120 - 80 25
for oTT IEET F W T, WET C F FfEE St a s tims
EAFHEE Ui S|
City | Population | Literate | Illiterate | % of
literates
A 200 150 &0 .
B . 200 100 66,6
C 150 50 100 E
D 120 s 90 25
Based on the given data, the percentage of literates in City C is (round 1o one
decimal),
Ans. 201334
xX2323
X 3345
v 333
Q.25 F7 WETH AT WS FREST § Ae-HeuE T Afes, S sEmAEr
o S ; L Cuestion |0 : 9864492364

MName the Indian entreprenens, co-founder and owner of India®s low cost airline Spicelet.
Ans

Status - Answered
Chosen Option : 1




Ajay Singh
2 s #eear
Vijay Mallya
X 3 {d< TIeT
Ratan Tata
, e SR, gy
Captain G.R. Gopinath

v

x

QAT A s S g Pt A st

Ans

Hatatea

Cuestion 1D : 9864494070
Status : Answered
Chosen Option :3

g
X, Y F 9o 2 ¢ T ofy o) wiuw fr i e oy W § oA 5
sThamETR S T

THURO:

1. 3T IR THu e wwm s b

2. X, Y ga & 7w gEa gl

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
% advised Y that if he/she wants to study Management, he/she should join TIM.

Assumptions:

1. I™™ provides good Management education,
2. X listens to the advice given by Y.

| ¥ TEUROT 2 A B
Only assumption 2 is implicit.
x, T A1 AT & 2 It ¥
Neither 1 nor 2 is implicit.
. ae qEUReT 1 Hafafea gl
Only assumption 1 is implicit.
1 3k 2 gt qEuRone siafAfea

Both 1 and 2 are implicit.

X

X

v

QT A TR T mEE I A Ao SR A

Ans

e Edgh
When a ray of light travels from a denser medium to a rarer medium, it bends:

Question |1D ;9864493224
Status : Not Answered
Chosen Oplion ;-

 Hf¥erE @ g dur A 79 S
away from the normal and speeds up

| FeE Y AR qur Ay g e R
towards the normal and speeds up

gaﬁmﬁagmm#rm%

away from the normal and slows down

v

X

X



, e #r AR Fur ol g Sl ¥
towards the normal and slows down

x

Q28 qaelr grer Rerofr et & F=r A 22
‘What is the mean of the first five Triangular Numbers?
Ans 4’ N7

Question 1D : 9864492557
Status : Not Answered
Chosen Option ;-

X286
X38
X45

OB JfE cosecO + coth = 2 BT A cot§ =7
If cosec@ + cot8 = 2, thencotf =7

Question |D : 9864493038
Status : Not Answered
Chosen Option : -

Ans x1 0
X205
X1
v 0.75

Q30 fr3ft 3 2016 # 9T F BT tIeEEs Fa aw
Who was the flag bearer for India at the 2016 Rio Olympics?

Ans m ﬂﬁ-’lEF

Question 1D 9864492270
Status - Answered
Chosen Option : 2

X 1
Sakshi Malik

\,zaqﬁlﬂaﬁ'a:r
Abhinav Bindra
m_msars‘@am

Saina Nehwal

. Ry
P.V. Sindhu

X

Q.31
fffaa 1 oige. wit Aew A6t & aeh 9w A e Rl A

Except Helinm, all noble gases have how many electrons in the outermost shell?

Ans X"E

Question 1D : 9864493514
Status - Answered
Chosen Option : 3

X210
V38
X4 4

Q32 forw wiaw forew wfiend 3T 3fafed & 2017 & 9o == 3w T

v g e

Which famous film actress and celebrity woen the PETA ‘Person of the Year” award in
20177

Question |1D ;9864492303
Status : Answered
Chosen Option : 2

i 1 Rzt st
Priyanka Chopra
v: IHSHT AT

Anushka Sharma



Emﬁma:'g

~
Alia Bhatt

754 ;
Deepika Padukone

Q33 v arv fawedt & @ of e A #1999 1

People : Person

Question 10 ;9864493753
Status - Answered
Chosen Option : 3

Choose the correct analogous word pair from the given alternatives.

People : Person

Ans 1 Fungus : Fungi
X 2 Cacti : Cactus
X 3 Radius : Radii
# 4 Nucleus : Nuclei

Q.34 fgw 7T A F cIEEE 98 M AT T gEeT 3o & & T Teetaiae
Fyet & ¥ # gy 7

ST HET A, B C, D R E # @ Fww sunne w2

AFTE:
1. 4, B, €, D 3t E fae st £
2. B e HEa F
Consider the given question and decide which of the following statements is sufficient 1o
answer the question.

Which of the natural numbers A, B, C, D and E are odd numbers?

Statements:

1. A, B, C, D and E are natural numbers.
2. B is a prime pumber.,

Ans  of 1
Rrrma s SRAradt 1t a 2 oeg ¥
Meither 1 nor 2 is sufficient to answer the given question.

X 2
e e wew W T 3 R 1 ke guies 3 ST 2w g ol
Bl
1 alone 5 sufficient while 2 alone is pot sufficient to answer the given question.

X3
for 1o v = See 34 & faw 2 afer oo & ST 1 e oot A
gl
2 alone is sufficient while 1 alone is not sufficient to answer the given question,

X 4

fow 71T WoeT FT oAt &7 & faw 1 3w 2 @t gdem #

Both 1 and 2 are sufficient to answer the given question.

Question 1D : 9864493966
Status : Not Answered
Chosen Option ;-

Q.35 #efiew o & Bw sude R =0 o oF s A TR TE A
o E T A few (frustum) 3 ) foee (frustum) @ amed Emme 5
iy AT 2 ddeT § O wews & Sk 7 ddey b oawd T
Hahe A e

A shuttle cock used for playing badminton has the shape of & frustum of a cone mounted
on & hemisphere. The extemnal diameters of the firustum are Scm and 2em, the height of the
entire shuttle cock is Tem. Find the external surface area.

s | 74.30 T HEHET

x
74.30 cm®

Cuestion 1D : 9864492591
Status : Not Answered
Chosen Option : -




, 74.29 T déex
74.29 cm?

_ 80 =T HEHRT

80 cm?

, 73.38 T FAHET

73.38 cm®

x

v

x

Q.36 & wk o &, T 8 % § 3 R A0 i B Ew F Pl A A

At Tl ot & Fmw & ovie: Rt @ B Cluestion 1D : 9864494074
Status : Answered

Chosen Option : 2

5563248885266588343

In the given series, how mamy 85 are there that ane not divisible by the member fo its lefi
bt completely divisible by the mumber to its right.

563 Z458R02665E8343

Ans B 4 3
V21
X32
X4

Q.37 10 xame #r Fremer e awg & fem e Ta0 o Tan0 & T W AR

Question ID 9864492748
o R o B @ e g

5 . SR : Status - Not Answered
The selling price of an item inchusive of a 10% profit was ¥ 440. What would be the
percentage loss if the item was sold for ¥ 3707 Chosen Option ;-

Ans x 1. 8
V215
X384
< 4 6.25

Q38w e A O 3, e vuafew daehe # = s e ) ‘
TR TuE AR RS aeeT e T & e O oA Question |D : 9864492229

Indian athlete Neeraj Chopra created history by becoming the first Indian to get gold in a Status - Answered
waorld athletics championship. What was his sport? Chosen Option -2

Ans sper g
X1
Shot put

| #TeT %R
Javelin throw
oF %

o |
Long jump

x o TEH -

Discus throw

v

X

Q.39 fr v Tt & ¥ w9 Toefatom wdmn & 9w aEmnie s

Question |D : 9864494121
e Foe 17

Status - Answered
Chosen Option ;2

122 + 345 -1 = 1011 + 337 =7
Select the option that can replace the *7* symbol in the following equation,

122+ 345~ 1% 1011 +337=?

Ans x1446



v 2 464
X 3 644
X 4 460

Qe s i A P r o mmr R aatmam w &
T e T & w2 FEenr 87

The tendency of undisturbed objects to stay at rest or to keep moving with the same
velocity 15 called :

Question 1D : 9864493619
Status - Answered
Chosen Option 1

Ans T
x o HaTT
momentum

Xz.m

force

Xa_m‘r
energy
=

e T
nertia

Q41 v zafFa gF # #7110 FFwider amer § T g ot 7E wer § fer s
TrarreT wwen & 3 o o iR HE A AN 6 el ower b
e we W wnfee el @ fFw e & B9

A man walks 10 Kmns towards east, then takes a right tum and walks 8 ki and again 1nkes
aleft and walks 6 k. In which direction s the man with respect 1o his startimg position?

Question 1D : 9864493687
Status - Answered
Chosen Option ;4

Ans

b B Seaiy t@‘
North east
x , GIETOT qiRTH
South west
_ 3ok 9iRgH
North west

/. & o

South east

x

Q.42 fadhr Sifere B #tw w Fred fw 710 uw & Fqh snpere & R

FIT:
T TR = W ¥ i aeeer /@ A ol meee & s | ot et

Question |D ;9864493810
Status : Answered
Chosen Opfion : 3

ar H Al FREH o # s )

ek

1. mufr et wEw R S R

2. wodr St wr wind & S & R wT ST wh
Decide which of the conclusions logically follow(s) from the information given in the
slatement.

Statements
Poverty is increasing because politicians don"t understand poverty nor do they know
anything about the problems faced by the poor,

Conclusions:

1. All politicians should be replaced.
2. All politicians should be asked to live i poor conditions.

i x1mwza§wm%

Only conclusion 2 follows



Faer fFswy 1 3TEToT Har

A %
Only conclusion 1 follows

n. AR 2 At eI F E
Both 1 and 2 follow

v T I 2 T F §

x

X

Neither 1 nor 2 follows

Q.43 i
W el i g & dr % R e # 3 R e R Question ID : 9864493209

:l'l..'-l.T & ; ; " ; - Status : Answered
‘Which of the following gases is used 1o prevent food material from getting oxidised? Chiosen Option :1
Ans ﬁ'ﬁiﬁr :
X1
Chlorine
- 1S ;E
Hydrogen
X3
Oxygen
Wi ¥
Nitrogen

Q.44
Fhead faeme grw ey e Reiedr fam o das g el Guestion ID - 9864492331

¥
The science fiction book “The Extra-Terrestrial Delivery” is penned by which Indian Status : Mot Answered
sl Chosen Option : -
A X1 Afaar ir@er
Namitha Ghokhale
' Hﬁf%l CAL:E
Sudipta Das
x 3 HANY S
Anosh Irani
i, ST
Samit Basu

Q45 2 wemst & UwET 0.432 ¥ 7 vF wEw 1.6 @ & g FEw ww
The product of two mumbers 15 0,432, One of the mambers is 1.6, What is the other

Question |D : 9864492961

e Status - Answered
Ans x 1.2 Chosen Option : 2
v 2027
X 327
X 40.027
Q.46

Question 1D : 9864494133
Status : Answered
Chosen Option : 4




A s & frew pow & T svgen B & oow A & et & @ wn

Problem Figure
K[
ORI
|| 2

Answer Figures

Slalolol

wHEm iy - Problem Figure
et &IT - Answer Figures
Select the Amswer Figure that fits in the blank space in the given Problem Figure.

Problem Figure
kK|
Q&I
|8 ?
Answer Figures
Higloiel
Ans ?(1 D
X2A
v:B
X4C

Q47 frw 71T el & FAfUE S F FUR I HIRVS e Question 1D - 9864494239

Status - Answered

e - e o s Ehsen Onficn 22

Select the missing word from the given related pair of words.

Ancient : Old :: Bedspread :

Ans
X 1 CE g
Berth
v :
Comforter
X 3 E
Pillow
s HIT
Couch
Q48 ﬁmﬁﬁaﬁ#mmu@aﬁrwﬁmmmﬁ Question 1D ;9864493111
The metal that can be cut with a knife is: o g‘ﬂu‘;‘“:‘:‘““"“"’
- osen Option ;
e F

Sodium



e
Copper
53 E
Aluminium
X & N

Iron

>z

QM rmwmr A i e s s Ar e & E

Ans

Fa ' Fua 9w b

AR AT FRT W ATE A S I S I T e T aw

Question 1D : 9864493653
Status : Answered
Chosen Option : 2

AT WA WY

w
1.8 Z {93 w1 g F 10 o S5 A
cqmE N m Szl

Consider the given question and decide which of the following statements is sufficient 1o
answer the question,

The trains are very puncieal in Makaysia. For a maximum of how long should Mr. Z wait
for the train?

Statements:

1. Mr. Z had reached the railways station at 10 a.m.
Z. There is a train at 11 & m. and the next train is af 12 p. m.

G
AT FUA 1 qey § FEEF e Fuw 2 9o ¥
Statemnent 1 alone is sufficient while statement 2 alone is insufficient.

v gt wue 1 3 2 gareT §
Both statement 1 and 2 are sufficient.
x o I ar Fue 1 g § ar 2

Either statement 1 or 2 is sufficient.
X4
Ihel FUF 2 YT § FaiF kel 1 FUS HIAST gl

Statement 2 alone is sufficient while 1 alone is insufficient.

Q.50 i & 78 o W W FEE UE @ 9O #9% JE WER SAET 5 SO

Ans

# et R e W £

I

Question |0 : 9864493751
Status - Mot Answered
Chosen Option ; -

CHO A
== @

!
Use each of the below figures only once and form three groups, The three groups so

formed are:

@
ICh[D lid)

ojoo|@

x1(1,3,8), (2,5,6), (4,7,9)
x2(1,5,9), (2,3,6), (4,7.8)
v (1,3,9), (2,5.6), (4,7.8)
X+(1,3,6), (2,5,9), (4,7,8)




Q.51 gt B < 3 ot &5 ik & o o W ey e § 2
In which of the flowering plants are buds produced in the notches along the leal margin?

Question 1D : 9864493317
Status ; Answered

e x 1 Felr Chosen Option :2

Banana

xN oz :
Bryophyta

7 TAGISAH
Bryophyllum

X LEICECIN T
Rose

Q52w et Fgfm EE A cm st A e s w R == &
witafda & &7
When a compressed slinky is released it converts potential energy into:

Question 1D : 9864493582
Status : Answered
Chosen Option ;4

e 1 Tt Far
Mechanical energy

, 3T FSi
Heat energy

x 3 TaEfRE FA
Chemical energy

. T 5

Kinetic energy

X

Q53 over &7 MO %Ij’% Question |D ;9864493152

Status : Answered

The molecular formula of Propane is: Etioaen Ontion =4

Ans (1 CBHH
X 2 C,H,
X 3 CH,
X 4 C4H;o

Q.54
Question |0 : 9864493676

Status - Answered
Chosen Option ;1




=g 1 7
o= | Wee | TEE |
2001 | T1,500 | ¥200 | T500 | ¥100
2002| 2,600 | 300 | 600 | 200
2003) 3,200 | T150 | T700 | ¥T150
2004 | 4,100 | T250 | TB50 | T125
2005| T5,000 | T200 | T80O | ¥150
2006| 5200 | ¥100 | T750 | 175

a¥

gfy 3% \s 399, 3% 2001 - 2006 ¥ St fFa=m &

Items of Expenditure

Salary | Food | Medicine | Tax

2001 | T1.500(F200| %500 % 100
2002 [T 2,600 [T 300 T600 | X200
2003 g_ 3.200 f 150 E 700 i 150
2004 | 4000 T250| T650 T125
2005 i 5.000 g 200 | T 800 < 150
2006 | 5200 ({F100f T 750 175

Year

The average salary per vear during period 2001 - 2006 is:
Ans o 1 3,600

X 2 3,400

X 3 3,800

X 4 3,500

Q.55 = fivewr s ATSrC S & 3w &1 3w & e 37 - A FAE

F:i.ndtheﬁm:liouwhichisasmuchgreateﬂhan%nsitisiessﬂlan%:

Question 1D : 9864492542
Status : Not Answered
Chosen Option : -

Ans 59
¥ =
x a5

Xz.ﬂ

24

Vs

84

X4.E

59

Q5 SeTaRT # ¥ FiF W o9 §F & 7 Asg a9 2
Which of the following is present in the centre of a flower?

e H=T

Cuestion 1D ;9864493358
Status : Answered
Chosen Option -1

Q.57

Cuestion ID ;9864493941
Status : Answered



Boys - #E& Girls - FEfam Athietic - TR=T# Disciplined - et

¥o7 v 7T @9 AW F, 39wt W S e § o 3w fEeiEat &
oy § S sepnfee o §2

L] —— s ) —— abdem

Y o i - LT T

In the above Venn diagram, what is the sum of the numbers that represent all those
athletes who are not disciplined?

ans X 127
X211
V16
X413

Chosen Option : 3

Q.58 gfE Zserly - ranix = 5 3T 0% < x < 907 g Sty & A 4T g7

If 2sec®x - tan®x = Sand 0° = x < 90% thenx =7
Ans  OC 4 30°
X 290°
X 3 459
v« 60°

Cuestion |D ;9864492837
Status : Not Answered
Chosen Option : -

A e m A it A ew L h E W AR @ D

The sum of two fractions is E.ﬂnrnf‘thﬂnis }_mmmemﬁminn?

ans o,
X2
X 3
v

SEEICRILE L

Question 1D : 9864492901
Status : Answered
Chosen Option ;4

Q.60 flt Fie & wWAvas geaee 12 § A s & 4 8 ol oo &
1 #E (mole) & v e & @ #fa @ s wh &7

Atomuc mass of Carbon 15 12 and that of Helium 15 4. State which of the following
statements 15 tree for 1 mole of each of the elements?

Ans 3 4
BT # 1 A (mole) A, FEA & 1 AT (mole) A 3 30 H0E o]
|

1 mole of Helium wall contain 3 times more atoms than 1 mole of Carbon.

Question 1D : 9864493408
Status - Not Answered
Chosen Option : -




FEA F 1 A (molke) A, HfFTA F 1 AT (mole) A Ay wA f FEm
FAW N
1 mole of Carbon will contain the same number of atoms as present in 1 mole of Heliam

X 3
FEA F 1 A (mole) A, FFEA F 1 AF (mole) # WANRT 1 dEm 0w
e il
1 mole of Carbon will contam one-third the number of atoms present in 1 mole of Helinm.
75 4
Frda @ #d 1 (mole) &, fFTE F 1 A (mole) F 3 T il g
B
1 mode of Carbon will contmn 3 tumes more atoms than 1 mole of Helium

Q.61

Ans

AT A 21178 & & 1 v AT B0 g T =i # g =10 F e
W T 161 # &9 Tam drer & e v & @ gdr

Deepti bought a set of cups for T 175, but then had 10 sl if later to clear old stocks for ¥
161. What is the percentage of loss that she had 1o incur?

Cuestion 1D : 9864492688
Status : Answered
Chosen Option ;1

vi8
X216
X314
X447

Q.62

Ans

000 Hrzy 1 v gty &, weiver e Y 270 s # S e 240 Her @ antEE
=T 1w gt & frre e = e der @ woiee s

In & 900 metres race, Sathish beats Kiran by 270 metres and Rahuol by 340 metres. By how
many metres does Kiran beat Rabul in the same race?

Question 1D : 9864492610
Status - Not Answered
Chosen Option : -

< 1.70
<220
X 3140
v < 100

Q.63

ffafaa & o ot @ v S & #0 & oy F ooy uow s 7
Which one of the following derives mutrition from plants as a parasite?

CQuestion 1D ;9864493296
Status : Not Answered

el X1 HATET &7 9I&iar Chegan Option s
Malaria Parasite
v HHSYCT (Cuscuta)
Cuscuta
o SATHTIAH (Bryophyllum)
Bryophyllum
Xk
Lice
.64

CQuestion 1D : 9864493680
Status - Answered
Chosen Option ;2




w6 R # g, S v Rew & 9w A9 B

Problem Figures

| 3 ’ s0®
/N Q ?
A B C D
Answer Figures
N \J 7
O & ¢ O M ¢ O
1 2 3 4
Choose the correct figure to replace the question mark.
Problem Figures
L 3 , s0®
/N A ?
A B C D
Answer Figures
M|\ -
O ¢ ¢ O '{}\-/0 ¢ O
1 2 3 4
Ans O 4 4
X23
Va2
X 41
Q.85 , TF AR WA 9, 3 IW I W W ¥ 5 ey dwh A ;
i o 1 T i
, & Muslim saint, lived at the place where Fatehpor Sikr was built. U‘insenﬂpﬂnn:s
e 3t '
o [CEICeC)
Nizamuddin Auliya
x> AUTET =T ageEr
Nasiruddin Chiragh Dehlavi
V> AW Felld Toredhh
Sheikh Salim Chisti
x o T FETE
Baba Fakruddin
Q.66 afy famh =ofee & 20 & vw arg & Ty 30 25% 7 W aw fear At i ABediaTE
?wmwm;mm Id i f 2%%, the selli e of th nte M awerel
u;]p::&nﬂﬂgﬂmm sold it at a profil of 23%, the selling price e Chosen Option : 1
Ans J} ??5
X 2380

X332



X 4384

Q.67 &7 i I9T-71T (Answer Figure) &1 78 Wea HTFfo (Problem Figure) %1

i s ofafie i Question 10 : 9864494057

Status - Answered
Chosen Option 1

Rcaa

A B C o]
Which of the Answer Figures is the comect water image of the given Problem Figure?

Problem Figure

4

Answer Figures

SRR
Ans }(1_(:

VEY

X 3B

X4D

Q.68 GraTafay § 9 w9 ¥ &5 J vaa =1 & Br ssaam aaar Cusstion 1D ;9884493145
Which of the following regions has the highest potential for wind energy? Status : Not Answered

A | B TR Chosen Option :~

The Deccan Plateau
ot &5 e
Gangetic planes
s AT = T
The Himalayas
v iR ae
Western Ghats

X

Q.69 exfrgmr# 333 ms! N TF AT FAY, WO | FFr A, s e P ; p
T Question 1D : 9864493083

il b e of 393 et i Status : Not Answered
1 travels at & o ms™*m a mlsa L mis
travelled by Chosen Option : -

Ans FUT
X
particles

52 R
receiver

X3 i
source

A aenfa

disturbance



Q70 vw 150 #rex 7oAl 7 54 Treniey wfe g # mer & oew ge

3 $ % 42 didi A O AT AX R A £ #r § o 12 QuesﬁnnlDfﬂﬂMBﬁﬂ
A 150 m long train, travelling at 54 kb, erosses a platform in 42 seconds. What is the HintE- Bot Ansimma
length of the platform? Chosen Option : -
Ans
X1 540 HrET
540 m
480 HreT
W2
430m
X3 780 HIEI
780 m
x 4 630 AT
630 m
Q.71 # o wuw Ft w09 A T 9% v S see T e @ A TR T 5
R gv sty @ Frewd @ wwT i
5 Status - Answered
A Chosen Option : 2

g i mmardy #)
wafr el g Ew

ferei;
1. mht wfEwE gfEew &
2. mft sy sfdwET

Consider the given staterrent as true and decide which of the given conclustons can
definitely be drawn from e given sttemernts,

Statements;
Some aclors are busmessmen.

All businessmen are mtelligent.

Conclusions:
1. All actogs are intelligem.

2. All lasinessmen are actors.

1 3R 2 Aat srepERer aRa E

x
Both 1 and 2 follow
5, e TSR 1 sfegEer e
2
Only conclusion 1 follows
v &

Far 1 3R & 2 gEsor Far

Neither 1 nor 2 follows

Fae fasHY 2 HTAEIT FaT §

Only conclusion 2 follows

754

Q72 mad 10 #et & T st 7 3T a@a § o T o g E ) T aF
T AE ¥, 4 Ay & g o 98 &, O qEAr § AN 6 e aw
wEAT §1 3w wd T R @ o gF R ge 2
Samarth heading towards north turns right after walking 10m, he tums right again walks

Question 1D ;9864494287
Status : Answered
Chosen Option : 4

for 4 meters and then he fums left and walks skme In which direction he is walking?

Ans
x ¢ IRaH
West



Q73 & 7 3 B T F Br s sgEew ind wned & ogmw
B

Question 1D ;9864493924
Status : Answered
Chosen Option : 1

7y

The minimum mumber of straight lines required 1o construct the given fgure is .

2y

Ans X1 g
V211
X310
X412

Q.74 Figm &7 vw 25 A7 @ 20 § 7 AT el # dae A0S ¥ o B
wwr oy i it A G @il apr & e
‘Freedom Trail' is a 25 mile long passage that offers a rich insight into the American
Fevolution. In which US city would you find this famous and histeric trail?

Question 1D : 9864492122
Status : Not Answered
Chosen Option ;-

Ans

x ¢ 3R
Denver

vV g e
Boston

X s FATFECHE
Connecticut

X4
Memphis

Q.75 T wridr & 5 a% oy 1 8 A% o7E fR & I W A T o & W E
2N & 10 7% s B & e woFw

Krish is 5 years younger than Farthiv. Eight yvears ago three times the age of Krish was 10
maore than hwice the age of Parthiv. Find Krish's present age.

Question 1D : 9864492752
Status - Mot Answered
Chosen Option ; -

Ans x1_32a’é
32 years

X2 339
33 years

X3 3099
30 years

v 28 9§

28 years




